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Chapter 4:- Quadratic Equations
Ex 4.4

Question 1.Find the nature of the roots of the following quadratic equations. If the
real roots exist, find them:

(i) 2x2-3x+5=0 (ii) 3x2 - 4+/3x +4=0

Solution: -

(i) Given: 2x2 - 3x+5=0

Here,a = 2,b = -3 and ¢ = 5.

- Discriminant,D = b? — 4ac
=(-3)2-4%x2x5
=0-40=-31<0

Hence, the roots are imaginary.

(ii) Given: 3x? —4,/3-+4=0
Here,a = 3,b = —4/3 and ¢ = 4.
- Discriminant,D = b* — 4ac

= (4v3) —4x3x4

—48-48=0
Hence, the roots are real and equal.
Now using the formula,

_ -b.+ ﬁsz —4ac

x o , we get:
{4&)1J(4ﬁ)2-4x3x4
x= '
; 2% 3
_4V3+.48-48 _ 443 _ 2
a 6 6 V3

2, 2
Hence. The equal roots are 5 & 5 Answer

Do Your Self
(iii) 2x2-6x+3 =0

Question 2.Find the values of k for each of the following quadratic equations, so that
they have two equal roots.




(i)2x2+kx+3=0

Solution:

(i) 2Wtki+3 =0
This is of the form a® + bx + ¢ = (.
where. g =2b=kandc=3
Discriminant, - D = b -dac

=k -dx2x3=k-M
For equal ronts,
D=1

= k-2%=0
- =24 o k=+/2
- k= +Jix6 = +2/0
Answer
(i) kx (x-2) +6 =0
Solution:
(1) ke(x-2)+6 =
= ko -2k +6 = 0
This is of the formax® + bx + ¢ = 0,
where a=kb=-2kandc=06
Discriminant, D = b -dac
= (-2k) -4 x k x 6= 4k*- 2k
For equal roots, D=0

13

W-2k =0 > k{dk-24)=0
k = 0(not possible) or 4k-24=0

by
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k=—=6 k=6 Answer




